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fit

EXAB AL
—. SEFEERMOMEI

ta year,gen(year)

gen ddg=substr(dq,1,2)

ta ddq,gen(ddqq)

opreg Iny, exit(exit) state(Inkn) proxy(lninv) free(Inlab Inm year2-yearl0 ddqq2-ddqq32)
vee(bootstrap,reps(2))

xtreg Iny Inkn Inlab Inm year2-year10 ddqq2-ddqq32.fe

gen tfp=exp(Iny-alpha*Inkn-beta*Inlab-gamma*Inm)

= EEREFERE5ERBANEX ST

twoway (scatter Inkn Intfp if year==2007) (Ifit Inkn Intfp if year==2007 ),graphregion(fcolor(white))
legend(off) ylabel(,nogrid) xtitle("4> B % 2 7= K" ytitle("TEATEA")

twoway (scatter Inlab Intfp if year==2007) (Ifit Inlab Intfp if year==2007),graphregion(fcolor(white))
legend(off) ylabel(,nogrid) xtitle("4> B % 2 7= ") ytitle("557 S A")

=. TFP #iskryfEit

L.TFP 1k

gen taok=alpha*2*y/(rkn*3)

gen taol=beta*2*y/(ww*3)

gen taom=gamma*2*y/(m*3)

bysort cici: egen ys=total(y)

bysort cici: gen theta=y/ys

gen ttk=theta/taok

gen ttl=theta/taol

gen ttm=theta/taom

bysort cici: egen sttk=total(ttk)

bysort cici: egen sttl=total(ttl)

bysort cici: egen sttm=total(ttm)

bysort cici: gen tfprs=(sttk”*(-alpha))*(sttl*(-beta))*(sttm”(-gamma))
gen tfpr=(taok”alpha)*(taol"beta)*(taom”gamma)
gen bi=(tfp*tfprs/(tfps*tfpr))~ts

bysort cici: egen bbi=total(bi)

egen yall=total(y)

gen ttheta=ys/yall

gen gg=ttheta*In(bbi)/ts
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egen tcici=tag(cici)
egen ee=total(gg) if tcici==
gen e=1-exp(ee)

su €

2. BEAHH TR

gen taok=alpha*2*y/(rkn*3)

gen taol=beta*2*y/(ww*3)

gen taom=gamma*2*y/(m*3)

bysort cici: egen ys=total(y)

bysort cici: gen theta=y/ys

gen ttk=theta/taok

gen ttl=theta/taol

gen ttm=theta/taom

bysort cici: egen sttk=total(ttk)

bysort cici: egen sttl=total(ttl)

bysort cici: egen sttm=total(ttm)

bysort cici: gen tfprs=(sttk”(-alpha))*(sttl*(-beta))*(sttm”(-gamma))
gen tfpr=(taok”alpha)*(taol"beta)*(taom”gamma)
gen mk=tfp*((taom*sttm)"(-gamma))*((taol*sttl)*(-beta))
gen mkc=mk"ts

egen tmkc=total(mkc)

gen tfpsk=tmkc”(1/ts)

gen bik=(tfp*tfprs/(tfpsk*tfpr))~ts

bysort cici: egen bbik=total(bik)

egen yall=total(y)

gen ttheta=ys/yall

gen ggk=ttheta*In(bbik)/ts

egen tcici=tag(cici)

egen eek=total(ggk) if tcici==

gen ek=1-exp(eek)

su ek

3.57 L 4R %

gen taok=alpha*2*y/(rkn*3)
gen taol=beta*2*y/(ww*3)
gen taom=gamma*2*y/(m*3)

bysort cici: egen ys=total(y)
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bysort cici: gen theta=y/ys

gen ttk=theta/taok

gen ttl=theta/taol

gen ttm=theta/taom

bysort cici: egen sttk=total(ttk)

bysort cici: egen sttl=total(ttl)

bysort cici: egen sttm=total(ttm)

bysort cici: gen tfprs=(sttk”(-alpha))*(stt]"(-beta))*(sttm”(-gamma))
gen tfpr=(taok”alpha)*(taol"beta)*(taom”gamma)
gen ml=tfp*((taom*sttm)"(-gamma))*((taok *sttk)"(-alpha))
gen mle=ml"ts

egen tmlc=total(mlc)

gen tfpsl=tmlc”(1/ts)

gen bil=(tfp*tfprs/(tfpsl*tfpr))"ts

bysort cici: egen bbil=total(bil)

egen yall=total(y)

gen ttheta=ys/yall

gen ggl=ttheta*In(bbil)/ts

egen tcici=tag(cici)

egen eel=total(ggl) if tcici==1

gen el=1-exp(eel)

su el

R EIEP FNTE i HEPS

gen taok=alpha*2*y/(rkn*3)

gen taol=beta*2*y/(ww*3)

gen taom=gamma*2*y/(m*3)

bysort cici: egen ys=total(y)

bysort cici: gen theta=y/ys

gen ttk=theta/taok

gen ttl=theta/taol

gen ttm=theta/taom

bysort cici: egen sttk=total(ttk)

bysort cici: egen sttl=total(ttl)

bysort cici: egen sttm=total(ttm)

bysort cici: gen tfprs=(sttk”*(-alpha))*(sttl*(-beta))*(sttm”(-gamma))
gen tfpr=(taok”alpha)*(taol"beta)*(taom”gamma)

gen mm=tfp*((taol*sttl)"(-beta))*((taok*sttk)"(-alpha))
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gen mmec=mm"\ts

egen tmmc=total(mmc)

gen tfpsm=tmmc”(1/ts)

gen bim=(tfp*tfprs/(tfpsm*tfpr))~ts
bysort cici: egen bbim=total(bim)
egen yall=total(y)

gen ttheta=ys/yall

gen ggm=ttheta*In(bbim)/ts

egen tcici=tag(cici)

egen eem=total(ggm) if tcici==1
gen em=1-exp(eem)

Su €m

M. FFRSAECAYSEIEMR

reg mis mj fin lab czbt,r

est store ols

reg mis mj fin lab czbt edu import trans,r

est store ols2

xtset ddq year

xtreg mis mj fin lab czbt ,fe

est store fe

xtreg mis mj fin lab czbt edu import trans,fe

est store fe2

ivregress 2sls mis mj fin lab edu import trans (czbt=L1.czbt L2.czbt)
est store sls

ivregress gmm mis mj fin lab edu import trans (czbt=L1.czbt L2.czbt)
est store gmm

esttab ols ols2 fe fe2 sls gmm, b(%6.3f) se star(* 0.1 ** 0.05 *** 0.01) mtitle scalar(r2 12 a N)

compress nogaps

I XEAEY

drop if ddq == 54

gen group = 2

replace group = 1 if ddg==61 | ddq==62 | ddq==64 | ddq==63 | ddq==65 | ddq==50 | ddq==45 |
ddq==15| ddg==51 | ddq==52 | ddq==53

replace group = 3 if ddg==11 | ddg==12 | ddg==13 | ddqg==31 | ddq==32 | ddq==33 | ddq==35 |
ddq==37 | ddg==44 | ddq==46

replace group = 4 if ddqg==21 | ddq==22 | ddq==23
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label define group lab 1 "PEHE" 2 "FHEE" 3 "ARE" 4 "R AL
label value group group lab

xtreg mis mj fin lab czbt edu import trans if group==1,fe

est store west

xtreg mis mj fin lab czbt edu import trans if group==2,fe

est store middle

xtreg mis mj fin lab czbt edu import trans if group==3,fe

est store east

xtreg mis mj fin lab czbt edu import trans if group=—=4,fe

est store east2

esttab east2 east middle west, b(%6.3f) star(* 0.1 ** 0.05 *** 0.01) mtitle scalar(t2 12 a N)

compress nogaps

7~ HSREY

gen time = 1

replace time = 2 if year>2002

drop if year>2007

xtreg mis mj fin lab czbt edu import trans if time==1,fe
est store before

xtreg mis mj fin lab czbt edu import trans if time==2,fe
est store after

esttab before after, b(%6.3f) star(* 0.1 ** 0.05 *** (0.01) mtitle scalar(rt2 12 _a N ) compress nogaps
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